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Indian Army Tradesman sample paper

COMMON ENTRANCE EXAMINATION FOR SOLDIER TRADESMAN

TIME-1HR. |

QUESTIONS - 50

ALL QUESTIONS ARE COMPULSORY AND CARRY EQUAL MARKS

The Aryans were settled in
T Hgl T T A?

a. Rajasthan / ISy

b. Punjab / Ud

c. Valley of Ganga / 7T &1 ©rct
d. Valley of India / YRd &1 9rct

Against whom was the war of
American Independence fought

TP TadAdT B ASTS [9H o & fJaTw
as! Wt A2

a. France/%w™d

b. Denmark/3HTd

c. Royalty of America/3mRasT @1 e
d. Great Britain/Je faeq

When the Moon comes between

the Sun and the Earth, it is called

oI AT, U 3AR gt & g s Srar @
9 IHY T Hgardl 8?

a.  Full moon night / gftfar &1 3

b. Lunar Eclipse / 9 9gul

c. Solar Eclipse / @ g0

d. None of these / 378 ¥ PIg g

Which is the deepest ocean in the
world?

e o 3 Ry o1 999 T8 IR SIF A1}
Pacific Ocean / URId HERITR

Indian Ocean / f§< HEMFR

Arabian Sea / 3R¥ IR

None of these / T8 I ®Is gl

e 0o

05.

06.

07.

08.

How many islands of India are located
in the Bay of Bengal

YRd & fra g9 e &1 @it § fRua 82
190

204

300

710

2 0T

How many articles are in constitution
of India

YR & gy § fraq a@ 82

395

396

397

400

o 0o

Which of the following is not an official
language of UN?

o & @ B9 Tge g 3 it wraT
TR 87
. German / SHF

Russian / =41
French / Thd
Spanish / TR

o oo

I.S.R.O (Indian Space Research
Organization) is located at

1.5.R.0 (WIRTIT 3faf¥er SFHU WTS+) Bl
Rag?

Pune / g0t

Bangalore / TR

Chennai / 99

Delhi / feeeit

o 0o
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09. National Defence Academy is located at

10.

11.

12.

13.
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TP Y& AHPTGH Hel YA 82
Cochi / It
Dehradun / <gRIgH

Pune / qot
Kolkata / ®ididrar

o oo

Oscar Award is given for (international)

TP 3ETS (o) frad foe fear
ST 82

a. Film/ fseq
b. Press/ U9

c. Peace/wifa
d. Gallantry / <

The largest gold producing country in
the world is

T TG B aTa g -1 BT Jad a7
BT AT 2

Brazil / sfora

Canada / &St

China /9=

USA / 3Rl

o 0 o

Kayak is a kind of
PIAD HT 8?2
Tribat / fAad
Boat / A1

Ship / T4 SieTel
Weapon / 8RaR

e o oo

Pandit Shiv Kumar Sharma is
associated with which musical
instrument

e o 9 ufEa fRra $aR =l 5
it arer & W1y 93 U 372

a. Santoor /¥

b. Sitar / AR

c. Sarod/WIg

d. Tabla/dsar

4ono.com

14.

15.

16.

17.

18.
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Who was the author of the Novel
‘Godan’

M IUATH & RGP B A

a. Maithili Sharan Gupta / BRYcH=RT T
b. Munshi Prem Chand / 427 tifdq

c. Rabindranath Tagore / fa=&-TY 2R
d. Jai Shankar Prasad / SFI=/®R UG

Modern economy is one of the

YT SrferawT a1 87

a. Cash economy / Ad¢ sifeqaw

b. Planned economy / Tt g8 onfifes
[S2EE)

c. Credit economy / %fSe srfemawi

d. Open economy / gait Sifeaawt

The Battle of Plassey was fought in
WA F1 ASTS He At WA oA

1757

1782

1748

1764

o0 o

‘Good Friday’ is associated with

TS Wiss' frad JeTgsne?

a. The birth of Christ / SHTHE & o4 ¥

b. The Last Supper / TR I HioH

c. The passion, crucifixion and death of
christ / SUTHRIE &1 I, 3 il W
M, 3R 7D g J

d. The resurrection of Christ / STmig

EARCEEES

National Sports Day is observed on
ﬂ@ﬂ@ﬁ feaw wa AT ST 37

29 Aug

22 April

1 oct

None

o0 o
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19. Where is the biggest Meteorological
laboratory located in India
HRA & Gad ToT A Rt yarm=men
Tl T 3?
a. Patna/dedr
b. Pune/qol

c. Jaipur/SOgR
d. Ambala / 3f€Tar

20. Bird that cannot fly is
g & @ 31 a1 ueft S T THar @
a. Cuckoo/®rad
b. Parrot/drd
c. Peacock /AR
d. Kiwi/®iat

21. Unit of electromotive force is
o o 9 fagga yyes 99 @1 3913 o
a. Newton /=gcH
b. Power / 2fad

c. Joule /ol
d. Volt/dre<

22. Sound waves are
af~ ) 7 82
a. Longitudinal / 3cef
b. Transverse / %7
c. Both/gHf
d. None of these / 378 ¥ B Tg!

23. When a wave travels from one medium
to another, the quantity which will
not change is
WS T TP HIAH & gOY HIHH § Tt § of
I <l FT E e g?
a. Amplitude/ ATIH
b. Speed/ Tfa

c. Frequency/ 3gft

d. Wavelength/ a¥¥Tced

24. The sky appears blue because

THTRT e i faars Sar 82

a. Scattering of water droplets / O &t
gal &1 fommE

b. Scattering of dust particles / & & &Nl
BT foE=T

c. Scattering of air / 41 &1 f&dvd

d. None of these / 0 ¥ H1S a1

4ono.com

27.

29.

31.
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. If the atom of sodium has atomic

Number 11, then what is its mass?

T $aw o} URHT0] BT 11 7, A BT
TRHTY] HIR T I

a. 11

b. 12

c. 13

d. 23

Which of the following material
alters the rate of chemical reaction?
P 1 yerd Irarafae ufaferar &

W B P deddl 82

a. Acid/ 3+

b. Base/ 3lYR

c. Catalyst/33R®

d. None of these / 370 Y PIg gl

. Which of the following is acid

g 7 9 o T 82
a. Nacl
b. HCI
c. NaOH
d. KOH

An organic compound must contain
which of the following?

T Sfde @re werd # TR | | a8
a. Carbon /@&

b. Hydrogen/gRgIeH

c. Nitrogen/=TgeroH

d. Oxygen/ 3iTeRilo

. The main constituent of stainless steel is

RN e &1 IBI 4P @ |7
a. Fe
b. Cr
c. Ni
d C

Which is the largest bone in the human
body

ATE IRR T 99d 91 g3t B 4t gt 82
a. Radius /3f&ad

b. Femur /g &1 g8l

c. Tibia/fUSel &1 g8l

d. Humerus / wifSat
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32. Protein is digested in human body in
T IR & W ST Ut 8l i 82
a. Small Intestine / It 3fid
b. Liver /iR
C. Mouth/ﬂ"ﬁ'
d. Stomach/Ue

33. Animal kingdom is divided into how
many sub-kingdom
3] o Pt fpant 3Ry & g=7ar T 87
a. One/T®
b. Two/al

c. Three/dH
d. Four /3R

34. AIDS effects
FIT YUIFIT el 32
a. Blood Circulatory System / & ¥9R
qurTei!
b. Nervous System / @ yomei!
c.  Immune System / UfcR&T ot
d. Respiratory System / 48 ureil

35. Which of the following is the richest
source of vitamin C?
g # A faerfiE ¢ o1 e 3T did T 32
a. Amla / 3fiaan
b. Tomato / €HCR
c. Guava/ 3\ ¥Eq
d. Lemon /g
36.16.03 x 1000 =?
a. 16030
b. 16050

c. 17030
d. 18040

37. A motorcycle was bought for Rs.950
and was sold for Rs.1350, then gain %
is
TS Hiex Asfbd &1 a9 Tea Rs.950 3R
fawa gew Rs.1350 2 f S"ST a1y ufa=ra
T gRM?

a. 25%

b. 35%

c. 40%

d. 42.10%

38.

39.

40.

41.

42.

43.
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25+50f5
a. 0
b. 25
c. 5
d. 10

What is the Geometric mean of 2, 6, 8,

24
A AR 2, 6,8, 24 BT AT A1eT 4T 82
. V24

V48

26

16

o0 o e

Ifa+b=7,ab=10thena-b=7?
i a+b =73 ab = 10, @ a - b fHa=T FM?

7
5
4
3

cooe

What will be the value of 3/(125)2 = ?
3/(125)2 BT HIF JTd BIFC |
a. 5

b. 15
c. 25
d. 125

The sum of ages of a father and his son
is 60 years. If years before age of
father was 4 time to his son then the
their present age is
TS fUar 3R S 9 B H BT AT o o
AR I TR AT P ST ITF R F
gﬁﬁxgﬁ%?ﬁaﬁfaﬁaﬁqﬁww

?

a. 20 years, 40 years
b. 15 years, 40 years
C. 15years, 45 years
d. 10 years, 50 years

What is the value of log 13 + log 1/13?
log 13 + log 1/13 T A JTd DIoTa.
a. 0

b. 1

c. 13

d. 1/13
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44. In a trapezium one pair of opposite side

45.

46.

47.
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is
TP gHGd P ot faudia Yy «an itz
a. Small/ ®fer

b. Equal / SRT&RI &1

c. Parallel / MR

d. None of these / 3TH T PIg gl

The lengths of the two tangents

drawn from an external point to a
circle are
wwﬂﬁgﬁwqﬁ’@ﬂ%ﬁﬂéa‘rw
@3 Pt dars a1 R
Equal / SR1&<t &1
Unequal / 31§HH
Equal to chord / AR & sRTeR

None of these / 78 I HIs g1

POQRS is a parallelogram. If L, M are
the midpoint of QR and PS
respectively, and O is point on LM,
then the area of triangle OPQ is equal
to

PQRSWWW?@QW?JT% L3R M
7eg fig § QR 3R Ps &, SR afe LM IR O
ﬁéﬁg% at orQ Y &1 & 9

1/3 of the parallelogram PQRS
1/4 of the parallelogram PQRS
1/2 the parallelogram PQRS
1/6 the parallelogram PQRS

o0 o

o FTP’

A and B are two fixed pointsin a
plane. If P is a moving point in the
plane such that PA = PB, then
gfe fordt wHae wag W A 3R B g fAif¥a
g 2 afe P 30 THaW Wag W HIS nfedr=
ﬁg%gﬂ?ﬂ'@'ﬁPA PB, df

The locus of P is the line AB, itself /

P T RIGTY ST 310 B T ‘AB" TR

b. The locus of P is a line parallel to
AB/'P> %1 figuy T a5 &, Sl fob
TR ‘AB’ & §

4ono.com

4ono.com 4ono.com 4ono.com 4ono.com

c. The point P always makes equilateral
triangles with AB/ f§g P, AB & 91y
SH T JHETE BIYS ST @

d. For all positions of P, the triangle

PAB is isosceles / <P’ &} gyt fRufd &
forg Ays PAB THfgaTg ®

48. It was Sunday on Jan 1, 2006. What

was the day of the week Jan 1, 2010?

1 SIFTa¥} 2006 BT IFAAR AT, T 1 5= 2010
1 T & T2

a. Sunday

b. Saturday

c. Friday

d. Wednesday

49. If D, E and F are respectively the

midpoints of the sides BC, CA and AB

Of A ABC, then the orthocenter of

triangle DEF is the

gfe feelt Pryst ABc 3 yemd BC CA 31X AB

g 3R ST A g FU=T: DE SR FE at

fAYST DEF &1 &% &g 1 gNMM?

a. Orthocentre of A ABC/ A ABC &1 &%
BSRICE]

b. Centroid of A ABC/ A ABC ®1h%dH

c. Circumcentre of A ABC/ A ABC &1 dlgl
ad

d. incentre of A ABC /A ABC &I 3id: %

50. A can do a piece of work in 24 days. B is
60% more efficient than A. The number
of days B takes to do the same piece of
work is

A’ fodlt &t B ¥ e A Y Ipar 8 3R

‘B’, ‘A’ ¥ §0% SUTSI HIIA ¢ dl B 3 B &)

P31 ¥ fpaq feT ame
a. 12
b. 15
c. 16
d. 17
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Answer Key:

1.(b) v2.(d)v3.(c)V4 @5 ()6 (@7 (V8 (b)v9. (c)v10. () v 11.(c) vV
12. (b) v 13. (a) v 14. (b) v 15. (b) v 16. (a) v 17. (c) v 18. (a) v 19. (c) v 20. (d) v 21. (d) v/
22.(c) v 23.(c) v 24. (d) v 25. () v 26. (d) v 27. (c) v 28. (b) v 29. (a) v 30. (a) v 31. (b) v/
32. (a) v 33. (b) v 34.(c) v 35. (b) v 36. (a) v 37. (d) v 38. (b) v 39. () v 40. (d) v 41. (c) v

42.(c) v 43. (a) v 44. () v 45. (2) v 46. (b) v 47. ()  48. (c) v 49. (b) v 50. (b) v/

Jai Hind

Team 4o0no.com

Download More @ www.40no.com

4ono.com

4ono.com


http://www.4ono.com/

